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Gﬁh « We will discuss a property of convergence that some
* series possess and we will learn our final convergence

test of this unit!

oSO TER R ON DITEQN AR e

% Given a series Z‘a..; Ry + Q2+ Oy +0uy + -

n=1 R~ Semé Tem\s o0
we consider the co%espondmg series n:ata
2 110\ = 13\ +1021+103\ + \q.m. ‘
n=1 %’

—DEFN: A series T 0un is:
o ABSOLUTELY CONVERGENT if: [ |0m| ConVERGES. (Bo-.ﬁ cm

o CONDITIONALLY CONVERGENT if: ) O CONVERGES RNT Zla.\\ DIVEREES

e DIVERGENT if: Za“ DIVERGES,

3| Note that if the series has all positive terms then [&a]=0a so absolute convergence is
\ the same as convergence in this case.
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¥ There is an important relationship between the convergence of Ea"\ and
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(I.e. If Ela"\ converges then 7 0a converges’foo!)

is ABSOLUTELY CONVERGENT then it is CONVERGENT.

rr L0~ Diverces Then ) la.\ BvERGES.



ARy 2 THE 3 cﬁ’\%@f G & s

3 Currently, we only have oune test for con ergence that applies fo series with positive
and negative terms. We will now learn a w&ﬁg"d one, called the RATIO TEST! This test is
very useful in determining if a series is absolutely convergent.

—Ti: [Twe R0 Tes]
Given the seriesz:o.n. if: .?g-\_‘l& l?‘a‘:“ =L
L<\ S L>1 U@ L=
Lo T DA WE Knod

ABSMMTE\?, DIvERGLENT. le(nlg_
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The RATIO TEST works great with series involving factorials! This
means that you will need to be comfortable working with _ eypasd
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The RATIO TEST is inconclusive for P-Series since .ltm. ‘a'm" i



